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Free Response Practice (Cracking the AP Chem Exam, Practice FR #4, edited, 7 points)
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he above PES belongs to a neutral chlorine atom.

a. What energy of light, in MJ/mol, would be required to eject a 3s electron from chlorine? (1 point)

b. What wavelength of light, in m, would be required to eject the same 35 electron? (2 points)
A second PES is run, this time for a sample of chloride ions.

¢. For the PES of a chloride ion, how would the following variables compare to the peaks on the PES
above? Justify your answers.

i. Number of peaks (1 point)
ii. Height of peaks (1 point)

d. Draw the orbital diagram for a chloride ion. (1 point)

e. ldentify the noble gas which is isoelectronic to a chloride ion. {1 point)

(@) 2,44 MT/mol
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